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L CODSlder the following statements : "

Statement A
The atmosphere is Leated ; more by i incoming
\Jgrladlahon than by “terrestrial radiation.
U Statement II =
O "“Carbon dioxide an

" the atmosphere
‘Wave - radiation.

d other greenhouse gases in
are good absorbers of long

Wthh one of the - followmg is correct in|

': ‘respect of the above statements ? ..
(@ Both Statement-I . and Statement 11 are

correct  and Statement-II explains’

Statement-I
“(b)
correct, but Statement II does not
L explam Statement I- .
'(ﬁc)v Statement Iis correct but Statement 11

- - iSincorrect - .

- (d): ‘Statement-I 1s incorrect, but Statement II

s correct :

o

Conaider the following statements :
Statement-I:. , ' -
Thickness of the troposphere at the equator is
much greater as compared to poles
Statement IT:
At the equator, heat is transported to g‘reat
helghts by strong convectlonal currents.
" Which one of ‘the followmg is cor_'rect in
_ respect of the above statements ? .
(a) Both StatementI and Statement II are
correct and  Statement-II explznns.
) Statement-I R
~~  (b) Both StatementI and Statement 1T are.
correct, but Statement-Il does not
explain'Statement S
(c) Statement- Iis correct, but Statement 11
~ isincorrect ) _
" (d) Statement-Iis 1n<l:orrect but Statement 11
is correct = '
- 3 ot
'KSPC-P-GSPO L

Both Statement-I and Statement II are

3 Consider the following :

L
2.
8.
4.

Pyroclastic debris
Ash and dust
Nitroge'n_compounds :

Sulphur compounds

How many ‘of the above " are products of

(©
(d)

 volcanic eruptions ?
(@ .
®)
. Only three

Only one
Only two

Ah four

4.  Which of the following is/are correct ‘
mference/mferences from 1sotherma1 maps in
- the month of J; anuary ? ?

1

(a)

@)

(c)
@

The 1sotherms deviate to the north over -

the ocean and to . the south over the' :
contment :

-The presence of cold ocean currents

Gulf Stream and North Atlantic Drift

* make the North Atlantlc Ocean colder - .
~ and the 1sotherms bend towards the

north, -

Select the answer usmg the code g1ven below :

1 only

2only S :
Both 1 aIlA,d'Q Rl TR P B0
Neither.1 nor 2

5.  ‘Which of :the following countries are well

known as the two largest cocoa producers in

. the'world ?
(@) Algena and Morocco
-(b)_ _ Botswana and Narmbla
(c) Céte d'Tvoire and Ghana'
@ .Madagascar and Mozambique
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"6, W1th reference to the Himalayan Tivers: 9 ‘Consider the followmgmformatlon

Jommg the Ganga | downstream’ of Prayagraj

‘from West to East, which one of the following  Tw. ate rfall e Régio'n_: " [River
sequences is correct 7 59 | s g oh “ :'“‘. b
(a) Ghaohara Gomat1—Gandak Kosr'".' : 1. | Dhuandhar - Metwa ’ Narmada: -
‘ (hj_ .Gomatl Ghaghara — Gandak — Kosi - | o i T

(c) Ghaghara- Gomati — Kosi — Gandak 2. |Hundru : "i?]h()ta‘ Subarnarekha
(d) . Gomati— Ghaghara — Kosi ~Gandak § I agpur.

: C 3. | Gersoppa | Western Netravati

7. . Consider the following statements : - Ghats oy

... 'In how. many of the above rows is the glven i

Statemnent-I : .
-Rainfall is one of the reasons for weathermg o mformatlon correctly matche a7
-of rocks. . 4
. . Onlyone: .

Statement-II : i (a). e y one.
Rain water contams carbon dioxide in (b) Only two

luti : _ . . !
SO: e : ‘ L (¢ Al three '
Statement-II1 :

Rain water contains atmospheric oxygen. G None

'Which one of the following is correct in |. - '

respect.of the above statements ?

(a) Both Statément-II and - Statement IH

’ are correct and both of them explam
J Statement—I g :

10. Con51der the fo]lowmg mformatlon

_ (b) '-_Both ‘Statement-IT and Statement-IIL | -~ [ Regwn Name of the - Type of
: are correct, but only one of them’ " linountain mountam
" explains Statement-T * . range :
© " Only one-of the Statements HandIis| |1 Central |Vosges Fold mountam
L . ‘correct and that: explams Statement-I - Asia- © -:_:" B l-
‘d Neither Statement- II nor Statement—III 9. |Europe Alps Block
1s correct ‘ : . o o e mountam
ey Con51der the followmg countnes 8. North»‘ & 'Aﬁpalééhians F‘ﬂd mountam \
1. Tinland g i America \ 1 3
9 Germany 4. |South Andes - . |Fold mountam
' : America

(a) Only one
(b) Onlytwo
(c)  Only three
(d) Allfour -
KSPC-P-GSPO
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8. - Norway ...

- border with the North Sea ?

4, Russia

How many of the above countries have a

(5-A)

’ In how many of the above Tows is the glven

mformatlon correctly matched 2

(a) Only one

| (b) ‘Onlytwo-‘ &

.(¢) Only three
(d) All.four-.
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Wlth reference to the Hlmalayan rivers:

Jjoining the Ganga downstream’ of Prayagra]
ﬁ'om West to East, which one of the following
sequences is correct ? ‘

Gandak ~Kosi

GhaUhara - Gomati —
“(b) aGomatl Ghaghara Gandak Kosi -
(c) Ghaghara ~ Gomati — Kosi — Gandak
@

Gomati — Ghaghara — Kosi - ‘Gandak

_Consider the following statemen_t_s :

Statement I:

-Rainfall is one of. the reasons for weathermg

-of rocks.

Statement II ;

Rain water contams carbon dioxide in
solution.

Statement-II] :
Rain water contains atmospheric oxygen.

‘Which one of the followmg is correct in

respect.of the above statements ?
(a)
' are correct and both of them explam
 Statement- I »

" are correct, but only one -of them
’ explams Statement-I
Only one of the Statements II and TII is.
5 correct and that'explains Statement-I -
N elther Statement-II nor Statement HI
1s correct : .

_(C)"

. Con51der the followmg countnes

. - Finland
"2. : Germany

3. Norway o T R

)

636, ﬁa@r g@vﬁw
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' 4, Russia

How many of the above countries have a

- border with the North Sea ?

Both Statément-II and - Statement III 3

(a) Onlyone

Only two
(¢c) Only three .l
(d) -Allfour -

I~

z

. In

@

10.
- Both Statement 11 and Statement-IIT Y

@ j

Waterfall | Region |River
1. |Dhuandhar - |Malwa ~ |Narmada
2. [Hundra  |Chota |Subarnarekha
‘ "L ‘Nagpur :
3. | Gersoppa |Western |Netravati
Ghats 2
: how. many of. the above 1 rows is the given - :
mformatlon correctly matched 7
Only one.
(b). Only two
(_c) All three
None g

Con51der the fo]lowmg mformatmn

' Regwn Name of the - Type of
mountain mountain
_ : range I
'|1-|Central | Vosges Fold mountain. |
Asia - e |
2. |Europe " [Alps Block
o = = mountain
3. |North - - *|Appalachians - Fold mountain |-
America ' LT
4. {South  |Andes - " | Fold mountain
. America '

‘In how many of the above TOWS is the glven

mformatlon correctly matched 2

(a)

()
(c)

(d)

Only one
Onlytwo
Only three

All four :
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14 Wrth reference to “Conohs force whrch of:the.
. L R I - foll statements 1s/are correct" ..
1. : Dony1 Polo An'port RN I G fo owmg .

-

i § 3 Consrder the followmg alrports 2R

.1 Iti mcreases wrth mcrease m wmd velocrty

u __ SHEES Kushxnagar Internatronal Alrport

S 2, Itlsmaxrm'

' at the poles and 1s absent
3. Vljayawada Intematronal Auport at the e qu ator s

In the recent past whlch of the above have RO - Select ‘thie answer usmg the code grven below .

been constructed 3 as Greenﬁeld pro_]ects ?

."(a) 1 only
(@ - land?2 onlv M o) 2 only
(b)‘ 2 and 3 only SRR o N ,.(c)f Both land2
@ dandgonly v T U g Nerther1n0r2

o _.-,1,2‘and3' S 15. OnJune 21 everYYear, Wh1chofthefo]low1ng

R A e s latitude(s) e enence(s) a sunh ht- of more -
12, W]th referenceto‘ﬁ;vater vapour” whlch of the Atitmdef %D g

_than 12hours‘7 A Al e
following statements is/are correct" ‘ : :
L It is a gas, the amount of - whlch L Equator :
. decreases with altltude "_:”-f_.- RN 2. -Troprc of Cancer ‘ _
©2. Its percentage is max1mum at the poles RN _,zrrdi-,fg:"—,ﬂcép‘ﬁcdmg_

_ Select the answer usmg the code g1ven below A Arctrc Circle -

v(a), Lonly SN " AR arhae - Select the correct answer usmg the code glven
") Zmﬂy : ' : below e
(c) . Bothland2 - .
0% (a) 1lonly
(d) Neither 1 nor 2- o
: : o (b) 2only
13.  Consider the l‘ollowing descriptioh e (c) = and'4 8 Sl
) _Annual and dally range of temperatures ' (q) . 2and4 U
'llls low. . 16’l One of the followmg Tegions:; has the world’s

V Precrpltatron occurs throughout the year largest troplcal peatland ‘which holds about
. Preclpltatron varies between sl » three years worth of global carbon emissions

. - from fossil:fuels; and the posgible destructron
50 cm™= 250cm 3 _ ) o -
~ of which can exert detrimental effect on the

» jWhat 18 thlS type of chmate ?.

; global chmate Which one. of the followmg
(a)" Equatorial climate- . S Lo = denotes that reglon? =
it (b) ‘China type climate R R ' (a) Amazon B"i?“? S
(© Humid subtropic_all\climate ‘_ e _ ) Congo h\asm

(c) . Krhon _l3'asin.-= ;
(d RiodelaPlata Basin

(d) - Marine West coast climate.. .

" KSPC-P-GSPO (T=A)
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..Consider the following plants: ...

- With . reference “to, - perﬂuoroalkyl - 19-..».
S polyﬂuoroalkyl substances (PPAS) that are| - . 7 - Groundnut , -
used in makmg many - consumer products, ’ R
: 2.. -Horse-gram .*
. ‘-mnclder the followmg statements . , ; i
i 3. Soybean
_;»gPFAS are found o be. vndespread in :
L -‘drmkmg watgr, food and food packagmg _HOW ‘many of the above belong to the pea
. ‘materials. bl : family ?.
s . PFAS are not'easil.y_."degraded in the (@) Only one
‘ ‘ }._,_‘envxronment . _' ' (b) Onlytwo ..
3 Persistent exposure to PFAS can lead to - (¢ Allthree
; b bmaccumulatlonmammal bodles : :"'(d)? vNone o
Which of the statements glven above are’ =
correct? y
@ 1and2on]y . Rl o
20. Consider the following statements :
’ _(b)- 2and3on1yv : 5 Sa @
(© 1land3only = -~ T Statement I
. e The Indian Flymg Fox is placed under the
(d -1,2and3 AT
: : , “verm_m category in the erd Life
" (Protection) Act, 1972
) v : Statement II ; A _
18. Consider the foll‘owing . " The Indian Flymg Fox feeds on the blood of :
‘_1.__ ) Carabld beetles X . other. ammals _ .
j2. ) ;"Centrpedes it Which one of -the-'l'ollovéving_ is :_correct in
. A , e e :
8% Flies - respect of the above statements'?
. "(a) Both StatementI and StatementH are
4.  Termites .
o correct  and Statement II explains
" _5' sWazpa StatementI EE : e
Parasitoid species are. found m'how many of } .:'-'"(b)":‘:Both Statement—I and Statement-II are’
the above hnd oforgamsms? correct,. but ~Statement-II-* does not
. _(a) g Only two - i . explain Statement-T -
'(b)- Only three (c) Statement-I is correct, .:But'St_aternent-'II :
()~ Only four is incorrect . ' ' '
. (d) . All five _ l = (dl Statement-I is incorrect, but S_tatenient-H
i ' is correct o
KSPC-P-GSPO (9-A)
g% IHifra TIRTST %
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.. +;;skater” are :

- ' i(o): . Insects

(d) Re_ptlles ‘

'22.  Consider the following statements :

. Statement-I :
Many chewmg gums found in the market are

" considered a source -of environmental
pollution.
Statement-II:
* Many chewing’ gums contain plastlc as gum
base.

Which one of the following is correct in
respect of the above statements? i

(a) Both StatementI and: Statement II are |
correct -and -Statement-II - “explains
StatementI

(b) Both Statement-I and Statement 11 are
correct, but Statement-II does not explam -
"Statement-I 25

(c) Statement-I 1s.correct, but Statement-II is
incorrect

(d) Statement-I is mcorrect but Statement-II
 is‘correct

23. Con51der the followmg palrs

|Animal found zn its

|Caintny &5 - natural habitat
1. |Brazil |Indri -

|2. |Indonesia .. |Elk
3. Madagascar

ﬁohobo '

How many of the palrs glven above are
correctly matched ?

() Onlyone
(b) Only two
(© Al three
(d) None

KSPC-P-GSPO (11 A ).

3. Unlike ‘male- hons, male leopards do not

. World Toilet OrgamZatlon

1. Itis one of the agencles of the: Umted
' Natlons sl it g S

9. World Toilet Summit, World Toilet Day

and World Toilet College are the

initiatives of this organization, to

inspire action to tackle the’ global

samtatlon msxs

3. The main focus of its ﬁmctlon is to grant o

funds to the least developed countries

: and developing countries to dch1eve the -

end of open defecation. -

- Which of the statements glveﬁ:abov_e is/are
X correct ?

,' (a) _’Zonly
o) - 3on1y
© lad2
(@ 2and3 .. .

. A Col_l_s'idel: the followmg stater‘ne_z_xtsf:

1 . Lions:do:notfhave a particular bfeediﬁg
©-.season. ]

2; Unlike most other b1g cats cheetahs do

:notroar .t e T

»proclalm thelr temtory by - scent

marking. &

“ Which of the- statements glven aboye. are
correct" . '

(@ 1 and 2 oniy :
(b) 2 and 3 only
© 1and 3 only
(d 1,2and3

~. """ The “organisms “Cicada, Froghopper and Pond 24: " Consider the following Sta'temEI‘lt;S'I_"'G;"garding'

e : TANRTS %e
636, Y-, TESH T,
Al © 9555-124-124 | wEwn v s, @ G,

e, YA, 3.
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26 Whlch ‘one’-of  the followmg is - the" correct 28.

escnptlon of “100 Mllllon Farmers”?.

It is a platfonm for accclemtmg the

transition towmd‘; food nnd wntcr
. systems tlnt arc net-zero ((,arbon)
nntuxe-posnwc and that aims to
increase farmer resilience.

(b) It is an international alliance and a
network of individuals and farming |
organisations interested 'in_ A supporting
and strengthening the development of |.

the organic animal husbandry.: . 29,

(0 It is a digital platform fully infegrated
with service providers and built on
blockchain that lets buyers, sellers and
third parties trade fertilizers qmckly
and securely.

(A Itis.a platform ﬁth'_the_ mission of

" encouraging the farmers to form Farmer
Product Organisations or Agribusiness
Consortiums, thus - facilitating  the
access to global open markets to sell |-
their products

27. Consider the following :

1. Battery storage B |80
2 Biomass generato;‘s
3. Fuelcells ‘
4

Rooftop solar photov'oltaic ﬁxﬁts
) . How many of the above are considered
“Distributed Energy Resources” ?
(a) Onlyone -
{(b) Only two
7(c) Only three

(d) Al four

KSPC-P-GSPO " . (13-A)

Which one of the foﬁowing?"shows?;‘zi‘- ‘uniqile

’

5

relationship with an insect that has coevolved

with it ‘and that is the. only msect that can ¢

“(d)-

Silk cotton

)
144

pollinate this trcc? T
() TFig -
* (b). " Mahua

(c)  Sandalwood

Consider the follov'ving :

1

Y
3.

Butteﬂﬁés

‘ Fish

Frogs™. -

How many ‘of the above have poisonous

'spéqiesaﬁ:qgg them ?
@ " On
S ®
(o)
@

1

2
3!

Only one
Only two
All three

"None

Cashew
Papaya '

Red san(iers

native to India ?

(a)

{(b)

(c)
@)

Only one
Only two
All three

None

-Consider the foHowing :

" How many of the above trees are’ actually

g

© 9555-124-124
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Tafeer g, TARRTS, SU.
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ic'| 83." ‘Which one’of ithe- fo]lowmg is synthe51sed in:
human body. that’ dllates ‘blood vessels and
£ mcreases blood flow ? ” -
i TGs are mlmature ﬁssxon reactors (a) Nltnc ox1de o
iy RTGs are used fox powermg the onboard (b) :NltI‘OIIS ox1de i
... systems of spacecraﬂ;s ' () Nitrogen dioxide
3 _RTGs can use Plutonium-238, which is @ Nitrogen pentoxide
a by product of Weapons development S T ’ ) o
Whlch of the statements glven above are C _
 -correct ? _ : 34.  Consider the following activities :
(a) ~ land 2 only - 1.  Identification of natcotics on pessengers
(B) 9 and 3 only v at airports orin airc_raﬂ:
.' (c) ' 1 and 3 only B 2. Monitoring of precipitation .
(d 1,2and3 - s 3. -’I‘rackmg the migration of ammals
- E
» o o _ “In how many of the above activities can the
32. . Consider the following statements : . .. radars be used ? h
Statement-I : o i (a) Only one
Giant stars live much longef than dwarf stars. |. (b))  Only two
Statement I : . , ' '_(e) Al three N )
Compared to dwarf stars, gm.ut stars have a . (tl) I\Ione:- o
y greater rate of nuclear»react_lons. AN .
,Whlch one of the followmg IS correct in| -
V.respect of the above statements 9 5t |85 Consxder the fo]lowmg aitcraﬁ
(a) Both StatementI and Statement- II are 1' ' Rafael ‘
correct and Statement-II. explains 2. MlG-29 -
Statement I : : : 3 Te_]as MK-1
£b) Both Statement I and Statement L R How many of the above are con51dered ﬁﬁh
“‘correct, but Statement 1T does not
. . generation fighter aircraft ?
explain Statement-I L
e - (a) “Only one
(c) Statement-I is correct, but Statexnent—II o
is incorrect ' ' (b)  Only two
(d) Statement-I is incorrect, but Statement-II (c)  All three
is correct (d) None
KSPC-P-GSPO (15-A)
g< aIifrg e

WERTUT Yarq SRrEr, et TS,
Tafaer ez, WIS, W




gs qém@ﬁ“m@m 4Vﬁm@mﬁwmaaﬁmmé

1. ﬂﬁmﬁﬁwﬁasﬁqﬁﬁaﬁaﬁ C | e e

it %@3@% o # i @) @a’éﬁm@rﬁuﬁi 1ooowﬁﬁaﬁqt

- ﬁmm%wmmﬁmgﬁﬁ L SRR R e |

gigiaﬁtz ' )%Fﬁ?ﬁ’limmﬁ@wﬁ%
© ¥amosls o C S R e

@ 123ﬁ23

© mamfﬁm

AT IR AR i A b ass

oL/ 14118 SRV T s b cor KT S

T S ——— -
Z..wmm@m@mmg e @ﬁmﬁﬁm%(mm"
- IE R ? e o )%mﬁmaﬁeﬁﬁaa@ﬁ'
(@ E"E@WWWG%(W) ‘ 7’ | st de :

® TS ,
() oS L aS e
@ w-ars i

- /aé T & ‘W@hs@wﬁ’m?ﬁw A4__2.___;ﬁl=if%«1f@ammﬁaﬂaﬁﬁq

| J e e R B |, e e i sl

@ dmEd AR | e e i e g
() g (3N )mq‘ﬁmﬁ?ﬂﬁ B fwmsam%l ARSI

(@ YulEfred vemm . : R
"(d) aﬁfar‘«'wuvn?ﬁ Ciald . 2. %maﬁ ﬁésﬁawmﬁé%m,

: Srﬁ%ﬂ’cm’f 3 %mwm
s ‘ﬁéﬁrmﬁr&&a‘aﬁ’ﬁaﬁm%&mﬁﬁ - (Geb eE
S ik R T fﬁmw (mf,ffv'_:'f‘)ﬁvﬁ% '
U@ |y i e Gl e
) sl el AR wmmwRe) -
@ am(éa@ﬁq)mmﬁ%m : , :
- @ mwsﬁmuﬁa‘rﬁm y »wmﬂﬁ‘@;{.m/aﬁ#_@n‘gﬂ%/%g'

}J e st % ol 4, W&ﬁ@qm_;;}(a)vmlaﬁfz-
SUR oA wel oRe” Pefafes § | o
. T fored (Fgir) €2 C ) FA3
(a) mm ' . : ‘
(b) ﬁé}?ﬁggz{ram.'. : e _ .
ORI . @ Fad23Mm3
@ W (w2i) T _ o

(© 1,233

KSPC-P-GSPO e (16-A)

W wATRT 7
636, 913’6! T, - - | wERTO wiRTEr, Ve U,
Taeeit-09 © 9555-124-124 ﬁﬁawa;m YA, 3.




RS B ) Mt 0 (g ot e

=]

LRGN

Controlled drug delivery in patlents
Moblle an—condxtlomng systems

Preparatlon 1 of 1ndustndl Tubricants

| elect the correct answer using the code given
"below :

'(a).. . lonly:

“(b) land2 only.’
(C) 2 and 8 only

. (d) 1,2and3 .

.37, Whlf'h one of the fol]owmg is the exhaust pipe

emission from Fuel Cell Electric Velucles
-~ powered by hydrogen ? -

(a) Hydrogen perol(ide »l

(b)  Hydronium

() Oxygen

d Water vapour

38. Recently, the term

. hydropower” is actua]ly and appropriately

" discussed in the context of whlch one of the
following ?

(a) . Irrigation ofte__rraced crop ﬁelds o

‘(b) Lift irrigation of cereal crops

(¢ -Long duration‘energy:storage :
(6] Ramwater harvestmg system

) 39. “Membrane Bloreac_tors are often discussed

in the context of : .
(a). ” Asmsted reproductlve technologles
(b)  Drug delivery nanotechnolo_gles ‘
() Vaccine production technologies

(d Wastewater tte'atment;teéhnologies

40. With reference to the Indlan economy, -

i h of the followmg are hydrogels used ?

puxﬁped -storage |-

IAS

41.

“Collateral - Borrowing and’ Lending |- '
‘Obligations” are the instruments of : - :
(a) * Bond market '
(b)  Forex market
(¢) - Money market
- ) Stock market
KSPC-P-GSPO (17-A)

The"total - fertility rate in ‘an 'ééo’iiomy-‘is* :

defined as : g

(a) the number-of: children born.per 1000 .
people in the population'in'a year,

(b) the number of children born to a couple

in their lifetime in a given population.

(c) the birth rate minus death rate. -

(d) ‘the a\'lerage number. of live . births a
woman would have by thé end of her

_ ch11d beanng age.

Consider the following statements :

.In  India, Non-Banking - Financial

e Compames can access the L1qu1d1ty

‘ Adjustment Facﬂlty Wmdow of the
Res_erve‘Bank of India.

2. In India, Foreign Institutional Investors
can hold the Government Secunhes

(G-Secs).

3. In Indla Stock Exchanges can oﬁ'er
separate tradmg platforms for debts.

Wthh of the statements glven above 1s/are

K correct‘? c
(@) lgand 2 only

® - 3only

(© 1,2and3

(d) 2and3only

636, Y-ac1, Y@ T,
faeett-09

© 9555-124-124
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Tafeer g, TARRTS, SU.
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433 In Indla, whlch of the fol]owmg can: trade in
Corp rate Bonds and Government Secuntles ?

2"-- {‘P_en;gnon‘I‘unds o
.3 Retail Investors
Select the correct answer using the code given

S below

@ ‘land20nly _. »

®) 2and3only
(c) - land3only

(d 1,2and3

_..___J.‘_lusm:ance Compames_"_‘__ S AR

-

45 Wlth reference to the sectors of the Indlan

"economy, con51der the foll 3 __:_-_, ’

Economic activity " |Sector _
_|1. [Storage of agncultural ‘| Secondary
- produce . :
2. Dalry farm pﬁ}n;ry:'
3. Miﬂe'ra] exploration ' Terfiziry
4. Weéﬁﬁgclofh' fh s 3 Secondmy""

i

How many of the palrs glven above -are

’ correctly matched ?.

(a) -Only one-

(b)  Only two-
© Only three
@ Allfour _.

Consider the following materials: . .

4. Consider the following: . - - 46.
1. :Exchahge-‘Traded Fu.nds(ETF) : - 1 :Agificultural re51dues
—— 2 Commin
. : L : _ ‘3. Wastewater treatment sludge )
~ 8 Currencyswap . " .- ) - 5 %
. 7 | R ’. . .4 Woodmlllwaste
. Which of the above is/are considered financial | . .- .. '
instruments ? ' ' E "Whlch of the above can be used as feedstock
N S for producing Sustainable Aviation Fuel_ ?
- (@) - 1only : ‘ ) '
R (a) . 1and2only
(b) 2and3only () 3and4only .
(¢ 1,2and3 - (@ 1,2,3and4
@ 1and3only (d 1,3and4only
- KSPCP-GSPO " (19-A)
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49. - With referen(:e to the rilefrales” 1mposed by
the Reserve. ‘Bank of India while. treating
forcign  banks, - consider the fqllqmng

2] S oS o4 I Iy s e
bawé"”'y , statements :
1t Fii’rx;ié;"s plough /e Workmg capltal | .~ 1. There is npo ' minimum - capital
g : il rcqum,mont for wholly owned banking
|2 |Computer = |Fixed capital subsuh.mcs in India.

2. Tor wholly owned b'a{lkin‘g:Subsidiaﬁes
in India, at least 50% of the board

3. [Yarn used by the . - |Fixed capital

| fweaver - p
: 4 Petrol ) . i Wofldng capital. .. members should be Indian nationals.
‘ L o Whlch of the statements glven above is/are
Hdw"‘r'nany' of the above pairs are. ‘correctly correct ? '
matched ? e . : cro ' @ 1only

“(b) Z2only

(a> Only one
() Both1and2

* B Only o ... | @ Neitherlnor2

(¢)  Only three

(d All four I T _
| 50. With  reference to .Corporate Social
 Responsibility (CSR). rules in India; consider

) e - ",;';_'the followmgsfatements . .

48. " Which one of the foiloﬁvihg-ivdras/phréées' is [~ 1... CSR. rules spec1fy that expendltures
most appropriately -“used : to denote “an ... that beneﬁt the company dn'ectly or its
interoperable network of 3D virtual worlds i ":employeesmllnot be con51deredas CSR.
that can be accessed S¥multane9usly by [* act1v1t1es ERCE g
millions of users, who can ' exert property | - - 9. CSR rules db not i pecxfy minimum
righ tg overvirtual items”? - o ‘ ‘ spendlng on CSR activities.

(@) Bigdata analﬁics " Which of the statements glven above is/are

‘ correct ?
® Crypiography K (@ lonly
| | (  2only

() Metaverse ,
() Bothland?2

Ad) . Virtual matrix - ; ' (d) Neither 1nor2 .

~ KSPC-P-GSPO " ' (21-A)
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Cons1der the followmg statements L] 98

§ ] Statement I: .
If the United States of Amenca (USA) were to
default on_its debt, holders of US Treasury

* -.=._,3Wh1ch one of the followmg 1s correct in

" Bonds will not be able to exercise thelr claims
0 réceive payment

e Statement 11 :
The USA Government debt is not backed by
o : any hard assets, but only by the falth of the
N Government . ) )

) respect of the above statements ?

(a) Both StatementI and Statement II are
correct - and  Statement-II ° explalns
Statement I ’

(b) Both Statement I and Statement I are
correct, but Statement- II does not explam g
" Statement-I J

(c) Statement 1 is correct; but Statement II is
" “incorrect

(d) Statement-I is mcorrect but Statement II
is correct

52. Consider the fo]lowing statements o
Statement-I :

. Syndicated lending. spreads the nsk of 54.

borrower default across multlple lénders.

. Statement- II iz . s A
The syndlcated loan can .be a: fixed |
" amount/lump sum- of funds but cannot be a
- - creditline. - -

respect of the above statements ? ARt

(a) Both StatementI and Statement II are
..correct - and #:Statement-IT.~ explalns
Statement-I

(b) Both Statement-I and .Statement-'II are | -
correct, but Statement-Il does not
explain Statement-1 o

"(¢) Statement-I is correct, but Statement- It
is incorrect

4t s

3. Tathagata

v

Consider the. followmg statements in; respect

of the digital rupee

PO o

-1.  Ttis a sovereign currency 1ssued by the ’

Reserve Bank “of - India~ (RBI) in'
ahgnment with 1ts mOnetary pollcy

2. It appears as a llablhty on the RBUs

balance sheet..

) v3. © Ttis 1nsured agamst Inﬂatlon by its very

'des1gn

freely con\tertibte ' aéainst

commercial' bank monéy-and cash.

Which of the statements ‘given'.above are

correct ? .-

(@) . 1and?2 only
(b) 1 and 3 only

©. . 2and4on1y

@ - 1, 2and4

With .reference to “ancient India, Gautama

Buddha was generally known by wlnch of the

following epxthets 2

1. - Nayaputta - .
Which one of the followmg is correct in| .-,

Select the correct answer using the. code given

B .'below

(é) lonly. -
(b) 2and3only

© L,2amd3

(@ None of the above are epithets of

(@ Statement-I is incorrect, but Statement-IT ' Gautama Buddha -
is correct :
KSPC-P-GSPO (23-A)
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. B5. <Consider the following inf'onﬁatiOn:"
i |Archaeological State | Description
1. Chandraketu_garh Odisha " ’ 'Trading ‘
' v _ |Port town
2.|Inamgaon Maharashtra Chatcolithic )
' ) site‘ ‘ i
3.|Mangadu - Kerala . Megahthlc
i1 st
4.|Salihundam  |Andhra  |Rock-cut
Pradesh  [cave”
! ' shrines
In which of the above rows' is the glven
mformatlon correctly matched ?. V
C(a) _1 and 2
(b) 2and3
(© 3and4
(@ 1and4
56. Who of the followmg rulers of medleval India - :
' gave permxssmn to the Portug'uese to bulld a
fort at Bhatkal ? -
(a) . Krishnadevaraya
(b) Narasimha Saluva -
(¢  Muhammad Shah IIT
o
(d)  Yusuf Adil Shah
KSPC-P-GSPO

|8

(25-A)

3 Comwalhs

(d)

S (@

P

1| 97 Wlth reference to revenue collectlon by

vconmdfer - the fo]lovvmg )

statements

1. ;,Under the Ryotwan Settlement of :

3 revenue collectlon the peasants were .
. exempted from revenue payment in case
- of bad harvests or natural calarmtxes.

2. Under the Permanent Settlement in
o Bengal, if the Zammdar faxled to pay his
.‘ revenues to the sta-,e, on or before the '

his Zammdan

'- Which of the statements glven above is/are .

correct? .
@ Tonly
® zonly -
~ (@) Both1land2 |
N either 1 nor 2

Censidervth_e fel_lbvvin'g‘statements :

) 1f There are, no parable's in Upanjshads.

D, Upamshads were composed earher than

the Puranas.

- Which of the statements glven above is/are

correct ? :

(:i) 1 only

(b) 2only

© Both 1and 2 .
Neither 1 nor 2

Taeei-09
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59. Consider theffolilo'w‘ing'_ys_tétem‘eﬁté::-- :

L r Jw.. _India.is.a. memher o£ the: Intcrnntlonlll

Grains Councxl ahaX

2. A country ncéds to Be a member of the
-Internatlonal Grmns . Council

< exportmg or 1mportmg rice and wheat :

Which of the ’statémé;‘lts i given .above' is/are

correct ?

(‘a) lonly

(b) - 2only

() Bothland?2 :
@ Neithet 1nor2. ) B

60.

inclusion in the Intangible Cultural Hentage :

List of UNESCO ?
(a) Chhaudance -~
(b) Durga puja
(¢ Garba dance. ;
. I
(d) Kumbh mela

KSPC—P-GSPO

|61

fof ;

63.

Which one of thefdllowing was the latest '

" Who. was thé Provisional President of the
Constituent Assemblyf before Dr. Rajendra

Prasad took over ?

() C. Rajagopalacﬁé{ﬁ o
() Dr.B.R. Ambedkar

(c)  T.T.Krishnamachari
(d) Dr. Sachchidananda Sinha

62. With reference‘to the Government of India
Act 1935 consuler the followmg statements :

It prov1ded for the estabhshment of an
All India Federation baséed on the union
of the British Indian Provinces and

Princely States.
2. Defence and Foreign Affairs were kept

)

-under the control of the federal
legislature. . :

Which of the statements glven above is/are

correct‘7 2

(@) Lonly )

(b) 2only. -

() Bothiand2

(] Neithe;‘lnor 2

Which one .of the. foilowing is. a work

' attributed to playwright Bhasa ?.
v(a_) Kavytiila»r-zk{zraﬁ S

" (b) .Natya'sha.;'tra,

) 'qu_hy'ar_na-vygyoga

@

Mahabhashya

64. Sanghabhuti, an Indian Buddhist monk, who )

travelléd to China at the. end of the
- fourth century AD, was the author of a

commentaxy on:
(a) Prajnaparamita Sutrq
(b) Visqddhirﬁa‘gga

+ (c) Sartzastivada Vinaya.
) Lalitﬁvistara

(27-A)
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- 65 'Consul-er the folloWing properties /included
" in the World Herntngo Llst released l)y
UNDSCO
Y Shant_lmkctmi
2. .Rani-ki-an
3. Sacred Ensembles of the Hoysalas
- 4. Mahabodhi  Temple Cor_hplex at
L Bodhgaya e
How many of the ‘above propertxes were
included in 2023 ?
(a) Only one
(b). Only two
© _ Only three
(d) Al four .
66. As per  Article 368 of the Conshtu‘mon of Indla

'1.:‘ Addltlon.

KSPC-P-GSPO

[gId
1AS

2. . Variation .

) 3 Repeal :

‘the Parliament may amend any prowsmn of

the Consmtutmn by way of :

below

(@) land2only

(b) 2and 3only

(© land3 only

(d  1,2and3 l

Select the correct answer usmg ‘the code given |

67.

| es.

=

-

Consider the following countn’es i

/

1. Haly . SE 4t o
2. Japan v
.8.  Nigeria

4. ‘ South Korea
South Africa

Which of the “above'cou,ntries are frequently
mentioned in the media' for their low birth

rates, or ageing. populatlon or dechmng

populatwn [

(a) 1,2 and 4
(® 1,3and5

(© 2and4only”
@ 3and5only

Which of the following statements are correct

in respect ofa Money Bill in the Parliament ?

1 Artlcle 109 mentlons spec1a1 procedure
“in respéct of Money Bills.
2. A Money Bill 'shall not: hejintroduced in
 the Councﬂ of States. '
3. The Rajya Sabha can e1ther approve the |
Bill or suggest changes but cannot reject -
it. IR ‘

4. Amendments to a Mon‘e}; Bill suggested

(29-A)

by the Rajya Sabha have to be accepted
by the Lok Sabha.

: Select the answer using the code given below

- (a) 1land 2 only

| (b).” 2and 3 only
() 1,2and3
(d) | 1,3 and 4

2T IHifrd
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Whlch of the followmg 1s/are correctly
matched in terms of equlvalent Tank in the

three services of Indlan Defence forces ?

v Army Atrforce Navy
1. |Brigadier - [Air Commander
‘ "~ |Commodore v
2.| Major AirVice  |Vice Admiral
| |General |Marshal - R
-| 3. [Major Squadron “|Lieutenant
S Leader . - (Commander °
4. |Lieutenant |Group  [Captain ==
Colonel Captain | o

70.

Select the correct ansvoer using the code given |

below :

(a) land4

®  land3
() 2,3and4 .
@ Bonly

The North Eastern Council (NEC) was
established by the North Eastern Council Act,
1971 Subsequent to the’ amendment of NEC

) Act in 2002 the Councﬂ compnses which of

the followmg members ?

_ - 1.__ __.Governor of the Constltuent State .
: 2. . Chief Mlmster of the Constrtuent State N

3. “Three Members to e nommated by the
: Presnient ofIndia "~

4. The Home Minister of Ind1a

Select the correct answer usmg the code glven

below : ‘

(a) 1,2and3only -
) . 1,3and4donly

() 2and4only |
@ 1,2 3and4 '

|71,
, ibeen constltuted by the Government of Indla

72.

73,

(31-A)

@

‘o

”How many Dehmltatlon Commlssmns have"'

»tlll December 2023‘7 S
(@ One
b Two, - .

'@ Three =

(d) TFour -

"The Constltutlon (71“ Amendment) Act, 1992 :

. amends the Elghth Schedule to the
‘ Constltutlon to mclude wfnch of ’r‘he followmg
la_nauages 2 8,0 o ,
1. Konkam e
2. Mampurr v
3. Nepali
4. Maithili
- Select the correct answer using the code glven
- below :
@ 1 ,2and 3
®  1;2and4 -
©). 1,3and4

2 3and4

Consuier the: followmg pairs :

: .ItsLeader :

) Party
|1 |Bharatiya Jana . |Dr. Shyama Prasad |
. |Sangh ©.|Mukherjee :

-|2: | Socialist Party “

“[C. Rajagopalachan

3.. Congress for Ja.rvan Ram )

"(d)

Democracy: :
_|4. |Swatantra Party- Acharya;Narendra
: Dev »
How many" of the above are correctly
" matched ?
(a) Onlyone
(b) -‘Only two

(c)  Only three
All four -

2T iR E ig‘vlﬁ‘i e
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74 Whmh of the followmg statements aré: correct What are the dutles of the Chlef of Defence. .
about the. Conshtutlon of ‘India ?: ‘ . Staff (CDS) as Head of; the Department of
: “"’-~—~1—.—-——Powers of.- theMumCIpM1t1es are. given | ."Mnhtary Affdirs ?7- ’
] LR 1n Part IX A of the Oonstitutlon : i
; . o o i 30 Permanent Chamnan of Chlefs of Staff-
- 2. Emergency prowsmns ‘ ve & tte
' PartXVINofthe Contitution. e
- 8. Prowsmns related to’ the amendment of 2 ’ Exerclse mhtary command over the
B the COnStlt\lthIl are ..gwen in Part XX of o thr " Serv1ce Cluefs
" theé Constltutlon ; ' gt 28 3y - :
Select the ans‘eer Ausmg the code glven below 3. Pnnmpal M1l tazy Adv1sor to Defence
(). land2only .’ o __7 A' Mmlster onalltn-semce matters
(b? Ziand 8 'Qlﬂy Select the correct answer using the code glven
(© 1land3 only‘ _ below
@ 1,2and3 I ke &
‘ s ) (e) .1,' _2 3Jld 3
5. Whlch one of the’ followmg sta.,ements 1s (b) 1and2only S
- correct as per the Constltutlon of IndJa ? o e
(a) Inter-State trade and commerce is. a (c) 2and3on1y ¥ .
‘State sub_]ect under the State Llst g gt S TR $
_ T ) 1;and,3 only it
(b) Inter—State mlgratmn is a State subJect o - ’
under the State LlSt : .
_(c)' : Inter-State quarantlne 1s a Umonf T s : _
e v-subJect under the Umon LISt ] 78, Z.::Operatiohs,- undertaken ‘by the-Army towards
@ "Corporatmn tax is'a State subject under ' upliitment of the local population in remote
© " the State LISt . areas to mclude addressmg of their basxc
: ‘ R needs1s called - .S
"~ 76. TUnder which of the:'f'dllt)wlng" Articles of the. ’ S e AREES.
Constitution of India, has the Supreme Court (a) Operation San_k_alp
of India placed the Right to Privacy ? - 5 -
: e (b)  Operation Maitri
(a) Article 15 i
()  Article 16 () Operation Sadbhavana -
I - .
Article 19 e e
i : (d) Operation Madad -
"(d) Article 21
~ KSPC-P-GSPO (33-A)
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79 - The longest border: between any two countries | 81.

‘Consider the followmg statements regarding
in the world is between

- ‘Nari Shakti Vandan Adhipiyam’

,1. ' Prowsmns w111 come mto effect from the

”(a) Canada and the Umted States Of V 18th LOk Sabha

g Amenca

-2.  This will be in fqrce for 15 &ears aﬁer
T . Lo becoming an Act.
- *(b)  Chile and Argentina ;
RV ot L 3 There are provisions for the reservation
of seats for Scheduled Castes Women _

2z C < o
(c) hmaand In(ha within the quota reserved for the

R N e e D e L RS
Tore - -

' _ T . Scheduled Castes.
(@) Kazakhstan and Russian Federation B . 4
o ’ ’ L Which of the statements given above are
correct ? ’
"(a) 1,2and3
. 80. . Wthh of the followmg statements about the | - (b) vemdZ oy, _ -
. 'Ethlcs CommJttee in the Lok Sabha are | () 2and3only

1 ‘V;I-m'tial_ly it Wasan’(.zd’-'hbc Committee. N :
82. . thch of the followmg sitatements about

5 31 ‘Exerc1se Mltra Sha.kt1-2023’ are correct 7 - -

_make a complaint wrelating,’ to unethical |© "

‘ 'conduct .of a membef bf the Lok Sabha. 1

2. Only a Member of the Lok Sabha can

1. . Thls was a Jomt mlhtary exercise
' between India and Bangladesh

j 3. ThlS Commxttee cannot take up any" S i It ,coimme,r_lced.m Aundh' (Pune). -

: matter Whlch is sub _]udlce - v -3..  Joint response during counter-terrorism -
' S ) ' 'operatlons was a goal of this operatmn

j Se_lect the answer using the code'g‘i.ven below = 4. Indian Air Force was a part of this
' ' © “exercise.

(a) 1andZ2 only Seiect the enswer using the code given below :

) 2and3oxly = . . .| (@ 12md3
() 1,2and4

.(¢) 1and3only : .
Ii%. ; (© 1,3and4
@ 1,2and3 e @ 23andd

KSPC-P-GSPO P L (35-A)
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83 A Wnt of Prohibition is-an order issued by the

*t . Supreme Court or ngh Courtq to

e (a) —g gOVernment ofﬁccr prolubltmg ‘him-

fxom takmg a par tlcular action.

(b). the Parliament/Legislative‘Aesembly to

pass a law on Prohibition.

(c) - the lower court prohibitﬁlg continuation

of proceedings in a case.

(d) the. Governtnent_ prohibiting it from

following an unconstitutional policy.

84. Consider the following‘-staten.nents: B

1. It 1s 'rhe Governor of ‘the State who
recogmzes ‘and declares any commumty
of that State asa Scheduled Tribe.

2.7 A community 'deelare'd as'a Scheduled"

" Tribe in a State need not be 50 in

. another State '

Which of the .statements giw;en abqve' is/are

correct ?
(a) 1 only

~(b) 2only
(0 Bothland?2

(d) Neither 1mor 2 -

KSPC-P-GSPO i (37-A)
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85. Wlth reference; to Umon Budget cons1der the. X
following statements : / '

86.

87.

1.

The Union Finance Mlmster on behalf of

* the. Prime Minister lays the Annual .

Financial = Statement before both the

' ‘Houses of Parhament

(@

At the Umon level, no demand for a grant .
can be ‘made except on the
recommendation of the President of India.

Whlch of the statements glven above 1s/are'

correct”

(2) ~lonly v _

(b) 2only: ... - .

(©. Both1and?2
Neither 1nor 2

Who of ‘the followtng is the“anuthor of the tooks

. “The India Way’f and “Why Bliarat Matters”?
(@ Bt
" (b)

(©°
(@

Bhupender Yadav

Nahn .Mehta' )

'Shash1 Tharoor-
Subrahmanyam dJ alshankar

Cons1der the followmg pairs :

Country Reason for bezng in the
. - |news.

1

-

Argentina . Worst ecogomic crisis

.|Sudan War between the  country’s

regular army and
paramilitary forces

Turkey Rescinded its membership
© |ofNATO e

How many of the pairs given above are
correctly matched ?

(a)

- (b)

(c)

(@

Only one pair -
Only two pairs.
All three pairs
None of the pairs
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88

Consxder the followmg statements

’

91.  Consider the fol,lowirxg"'statcments :
Statement—I - : " Stafement-I: I' : ,
~ Sumed pipeline is a strateglc route for’ . There is mstablhty and worscmng secunty
& —Persian-Gulf oil- and natural ¢ gas- shlpments bo-f - sﬁ;uatlon in the Sahel regxon
Euro e. .
® Statement-II ; ,
_,Statement H v | . There have been mlhtary takeovers/coups
: ~ Sumed plpehne connects th e Re d Sea with d’ et}at in several countries of the Sahel region
“the Mediterranean Sea. it o recent past. i
! Which one of the following is correct in res;)cect Z?fheoibggz stf:\ltl:r‘xlgr]x%s ;S COTTEgesin
- respect of the ahove statements ? 4 &
: a Both Statement—I and Statement II are
(a) Both StatementI and btatement-ll are | dorrect * and - Statement-II e pl
correct . and Statement II explams KO StatementI 2
StatementI ' c :
' 1+ () Both StatementI and Statement—II are
(b) Both StatementI and Statement—II are - .correct,” but - Statement-II does not
correct, but Statement-Il' does not . explain, Statement-I
. explain Statement-I : () Statement~I 1s correct but Statement—II
(c) Statement-I is correct, but Statement 1T S incorrect .
) is incorrect S (d), ‘Statement I is mcorrect but Statementvn
(d) Statement-I is mcorrect but Statement-IT Lo s correct '
“is correct ’ ' :
89.  Consider the followmg statements - 92. Consider the following statements :
" 1. The Red Sea * receives very little - '
. precipitation in any form. .~ Statement-I : _
2. No water enters the Red Sea from- ) India doés not 1mport apples from the United -
States of America.
rivers.
Which of the sta’oements glven above 1s/are- _ Statement-II
.correct ? p o r ' In India, the law’ pl'OhlbltS the import of
(a) " Lonly . Genetically Modified food without the
) P only : app_rovat of the COmpe_tent antlrority.
©  Bothland?2 Which one of -the following is correct in
: . - respect of the above statements ?
(d) Neither 1 nor 2 . : = )
M o he (a) Both Statement-I and Statement-II are
90. According to the Environmental Protection | . - correct and - Statement-II explams
“Agency (EPA), which one of the following is . Statement-I t .
“the  largest source .of sulphur  dioxide (b). Both. Statement-I and Statement-II are
emissions? ’ correct, but Statement-II does not explain
. o . . . Statement-I ; ,
“(a) Locomotlves using fossil fuels ! . e
- T (c) Statement-I is correct, but Statement-II is
(b) Shlps usmg fossil fuels T )
(© Extraction of metals from ores (d) Statement-I is incorrect, but Statement-1I
(d) Power plants using fossil fu_els : is correct
KSPC-P-GSPO (39-A)
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‘,(a)

@

o4,

Wlth reference to’ the Speaker of thé’
Lok Sabha consuler the followmg statements

1. _He/She shall not pre81de »
2. * He/She shall not have the nght to speak

3. -He/She shall not be entltled to vote on

. the resolutlon m the ﬁrst mstance

Whlch of the statements glven above 1s/are-

~’correct ?-
l only '
(b) 1land2 only

(© 2and3only
1,2and3 -

—W1th reference to the, Indian Parhament
consider the following statements : :

1 Abill pending in the Lok Sabha lapses

- on its dlssolutwn '

2. A bill passed by the Lok Sabha and
; : pendmg in the Ra)ya Sabha lapses on.
* the dlssolutmn of the Lok Sabha

* of India- notlﬁed hls/h

" lapses’ on the

 dissolution cof _the
Lok Sabha. ' i

) _Whlch of the statements glven above is/are

95

™| 96.

L
-

With referenice’ to the"'Paﬂiament of :-Ind-ia,

+ consider the following statements

gk M Prorogatlon ofa House by the President

~ of India’ does not require the advme of
the Counc11 of Ministers.” i

2. Prorogatlon ofa House is genera]ly done .
- after the House is adjourned sine die
but there is no bar to the President of

India prorogating the House which is in
session.

+ 3. Dissolution of the Lok Sabha is done by

the’ President of India who, sdve in
exceptional  circumstances, does so on
* the advice of the Council of Mjnisters

. Which of ‘the statements given above is/are

correct ?

(2) lonly
() land2
() 2and3
(d)

Jonly. &

' Con51der the followmg statements

. Statement I

The European Parhament approved The

o Net Zero Industry Act recently

'.Statement T : -
~ The- European "Union mtends to achieve

carbon neutrality by-2040 and thérefore aims

Yo develop all of 1ts own clean technolooy by
" ‘that time.- ~

2 tentwn ko C4 Whichr one“’of“fthe follo'\vin'g' is.:COrrect in
summon the Houses to a _]Oll'lt sitting - respect.of the above statements 2. °

(a) Both.StatementI and- Statement-IT are
correct -and  Statement-Il - explains
~Statement-T - ;

(b) Both StatementI and Statement II are

?

G ld correct, but Statement-II does not explain

(a) 1.only Statement I

' (b) land2 (c) Statement-I is correct but Statement«II is

. ] mcorrect : )
(©. 2and3 (d) Statement-I is incorrect, but Statement-II
(d 3 only is correct
- KSPG-P-GSPO / (41-A)
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199, With ‘referénce “to- the “Pradhan Mantri

i .
N e
{ 97. Consider the following statements :
§ L Surakshlt Matritva Abhlyan, con51der the .
g . Statement-I : . foll A
b ___Recently, Venezuela hm ac]ncvcd a rapid ollowing statements :
; _reco~very from its cconomic crisis and 1. This scheme  guarantees’ a minimum - |
; succeeded in preventing its’ people ﬁom ‘ ackagc of antenatal care services to
E fleeing/emigrating to other countries. _'women in their “second and third:
: ‘ . tnmestcrs of pregnancy and six months
g Statement-II : post-delivery health care service in any
* '  Venezuela has the world’s lar gest oil reserves, ' govemment health facility, -
f Which one of the followmg is correct in 2 ‘Under this scheme, private sector
g respect of the above statements ? health -care providers. of certain
§ (a) Both Statement-I and Statement-IT are | -~ « - specialities can volunteer to provide
£ correct and . Statement-II  explains - services at nearby government health
© Statement-I facilities.
(b) Both StatementI and Statemertl are| - Which ol ghe sisiements given, dhais iare
£ correct, but Statement-II . does not Loorrecty .
explain Statement I ' @ 1 only
; (c) Statement is correct but Statement 11 ‘) 2 only
is incorrect - . (© Bothland2 )
I (Q) Statement-I is mcorrect but’ Statement 1 @ ) N cither 1nor 2. -
) is correct : _ R '
) 100. With referénce to the Pradhan Mantri Shram
A - Yogi Maan-dhan' (PM-SYM) YOJana ‘consider
98. - Wlth reference to the Dlgltal Indxa Land the followmg statements
Records Modermsatnon Programme, cons1der .
the followmg statements : 1. ~The ent(y age group for enrolment in
* -the scheme is 21 to 40 years. -
1L To melement the scheme the Central |- e o T
" .. .Governmént provxdes 100% fundmg 2. Age specific contribution shall be made
o B ST by the beneﬁc1ary ' :
2. Under the Scheme Cadastral Maps are i :
* digitised. " _ A 3. Each subscnber under. the scheme shall
B . Teceive a minimum pension of T 3,000
3. An 1mt1at1ve ‘has’ been undertaken to.]. per inonth after attaining the age of
transliterate the Records of Rights from 60 years.
local language to any of the languages | - _ e aad T
recognized' bytheConstltutlon of India. 4 Family pension - applicable to the
spouse and unmamed daughters.
Whlch of the statements glven .above are
correct ? Which of : the statements given above 1slare
) o correct‘7 -
(a) = 1and2only . . S
: (a) -1, 3-and4
(b) 2and 3 only
(b) 2 and 3 only
(¢ land3only - | ; K
c) 2onl
@ 1,2and3 : ]
(d - 1,2and4
KSPC-P-GSPO (43-A)

[N
— TANRTS %e
(<] TATT SRTET, et U,
P T owsman i




	Blank Page



